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), Rd
v, = 1 =y
TR R,

v, — U_ R
L= =>v,,=u(l+—2)
R, R,

I
From the two above equations:

Yy _ (l +R_2)( R, ) _ 1 +Ry/R,

v R,J\R; + R, 1 +Ry/Ry

2.50

Refer to Fig. 2.50. Setting v, = o0, we obtain the

output component due to v, as:

v,=—-20v

Setting v, = o0, we obtain the output component

due to v, as:

e "2(' N 2_;)‘5)(20%05 R) =0

The total output voltage is:

Vo= Vg + voa=20(v,— v)

For v, = 10Sin 27 X 60t — 0.1 Sin (277 X 1000 1)
v, = 10Sin 27 X 60t + 0.1 Sin (277 X 1000 1)
v, = 4Sin (27 X 1000 1)




2.62

Refer to fig P2.62:
Considering that v_ = v, :
U — U V-
v|+% = f:bv() = vy
vyonly: R, = ? =R
R
‘V
I R
P " -
—@ 1)
o e
A
= =
= R R —
v,only: R, = UTI = 2R
R
A
\ 4
R
A
= Y >
— —o U
+
I
P W | A
ey =
R R -
vg between 2 terminals:
A
v, =v =0
R
A
R 4
0
> o
o ™
) A4 A
4 L
R R -

v connected to both v & vy

Uy

L—‘ L)

= -



